Time : 2% Hours]

1.

Explain the Fisher’s equatio(r:nof Exchange with its limitations. __14
As per Prof J.B. Say, “Supply creates its own demand” - 14
Expl;in Fhe Wage cut and Wage ﬂw.e:unil::ni‘l?ll};rl theory o Ex J herd 14
. I 14
14
14
Explain the conéept 0 onar Gapgi\rmbyProﬁKeynes. e 14
From ng tipleChoQOsuonS,mwmyum ‘ 14
(1 1e definition of National Inmmethroughﬁxpmnmmmw-f
shall ~ (B) Fisher
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Explain the meaning of National Income and discuss its various methods f me i
National Income. it '

(D) Samuclm




e e e b

(4) Classical economists are in favour of decreasing in order to decrease
‘ unemployment and increase employment opportunities.
(A) - demand ~ (B) supply
(C) profit (D) wages

(5) “The trade union is responsible for the unemployment during the depression years
and not the entrepreneurs.” — who said this ?

(C) Friedman (D) Pigou »
(6) Which economist proved that equilibrium at under employment is
- phenomenon ? |
~ (A) Pigou (B) Keynes ¥
(C) Irving Fisher (D) Milton Friedman ;
(7) IftheGmalpﬁmlevelincmmﬂmpmpensityto L -
| (A) Increases (B) Decreases

(C) s fixed

(D) is uncertair
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1.  Explain the Absolute Cost Advantage Theory of International Trade. 14
| OR ; | |
1. Explain the Comparative Cost Advantage Theory of Intemaﬁoml Trade with its
limitations. . 14
2. Explain Prof. JS. Mill’s theory of Reciprocal dem;';;i W 14
OR : | _;:;,
2. Discuss the advantages from International Tryc &y ﬁ___:_, 14
3. Explain the advantages and disadvaq%gcs" 'fo_rfF_rgp*’trade policy. | 14
3.  Discuss the arguments m"ﬁour g_w against of Protective Trade Policy. 14
t__*} h
_j -' % thmry of Exchange Rate. 14
1 Dete . on of Exchange Rate. 14
choice questions answer : (Any Seven) : 14
i (B) International Labour Division
| "W (D) Mutual co-Operation
, ich is the main factor affecting International trade ?
A) Production Cost (B) Factor Supply
(C) Factor Demand (D) Quality of goods
(3) The theory of International trade given by Heckscher and Ohlin is knownas
3D . (A) Absolute Cost Advantage (B) Comparative Cost Advantage
. HIALS (C) Factor Endowment (D) None of the above
I R P.T.O.
!f. -
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(4) Which factor does not affect the terms of trade ? ;

(5)

(6)

(7

(8)

(A) Trade Policy (B) Immigration |
(C) Excess population (D) Devaluation 3
Which Economist developed the concept of Offer Curve in terms of trade ? , 3
(A) J.S. Mill (B) Marshall — Edgeworth -
(C) Tousing D) Keynes \/ -
If any country devaluates its currency then what can you say about i 3

trade ?

(A) Favourable (B) Unfavourable
(C) Balance (D) No change
Which of the following is not a protective tool ?

(A) Import tariff (B) Import Quota

(C) Exchange controls (D) Contract 0
‘Whichﬁoonomisthaudquatedﬁ-eemde?
(A) Marshall oo Y

.._'._-._; i e B
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